光学有限公司

                    招聘考题            （时间20分钟）

姓名：          性别：     学历：     日期：            得分：       

计算题（60分）

65×15=              75＋98=               6542÷57=         

763－256=            9877＋681=            35－87=         
258×75=             88×56=               5764÷56=       

57×95=              757－648=             576＋354=       

510÷12=             654×75=              57÷88=         
中英文翻译（20分）

you             china             banana           

日期           十月            

如何做一个好员工（不低于100字，20分）

